AR f(x) = ax+5 oA £(-2) =7 D, £(1)+ £(3) 2 k27

D 0 @ 2 ® 4 @ 6 ® 10



® -1<y<5
® -1<y<5

® -1<y<6

A7
@ -2<y<5
@ -1<y<6




=0
o] mx +ny + 16

=7

o, m—n °] 3k

(‘gi]

4
® 2 @ 3 ®
@1

@ o



Al

Do

@ 1

® 2

@gi _4?—% J—gﬁgol%
elul, a- b} g2
® 4

® 3



(3, 3)= A of,

o] 2=t A

Al
A

ax+y—-6=0

@ 2 ® 3 @ 4 ® 5

D1



Stal, y

oy 7t 2 S71

ko1
=

71&717F x 7} 3 57}

® 5

@ 3



7.

A 2x-y+1

3 1 Ao g

© 3x+y+4=0
® 2x-y+3=0

® 3x+2y-1=0



2 %y 7t e ol BF AAFSY AL BF D2H7

@ FF21E2] Aol7t xem Q1 ¥ Hlol= yem? o]t

@ o] Zol7} x A7K w, ¥e] ol y Alzbolt,

@ A% xkm 2 G2l A5y A7 5 99 A
500 km ©|t}.
® WA E29] Zo|7} xem 91 7] Full yem? o]t}



Oha B7] F y = -3x o] T =] gt 49 5 &4

1 3\ o
® A (5, —5) o A
@ 20| 9B o}z Fart
@ y=—4x o] 2R} yZo| 7P7t)

G2
Flo
posy
Tlo




10.

@ A(1, 0)
@ A(6, 0)

@ A(2, 0)
® A8, 0)

yl\

=/

® A4, 0)

By



11. ¢
T

Ty = 8x+ 11 o4 x 2] F71E y o] F71ROR e
{7

rlo 2%

A

@ -8 @ 8 @ 11 @‘g ® =



e

7
o, AABC 9]

x =

o] g =7}t

St
=

A=t

@ 7

® 5

(2R EaN

Inl Kl



13.

o

1 y = ax + b 9] 2o xdHo] —2, ydHo] 62 1, th
LA y = by +a 9] T Z 919] 427

@ (-1,4) @ (2,12) ® (-2,1)

@ (1,9) ® (3,15)



s
z
A
W |
P NG
m" 4o
< A op T
R T N oy Ry
del.ﬂw_uﬂ_‘
cTMo,m__o_vo,M
KA _ﬂ_a_u_ﬂ,ud
ma%_aomww
R
Mr.mAHE ~
L_LM%%MET
—_— o,OlOJI .
%Em%amEM
o N o T B0 S
e R R
° g R o
M__oB;o X E T
L A A =y

@ 2%, 8km ® 28, 16km

® 18, 8km

® 48, 20km

@ 3%, 18km



@ y=2r-19 T} HYsich
© ABAEREL AU bk,

© x@tel 2 37 o, y3te 3 gae
® Wt yFue] g 20k,

@ Q2% ofef & ol g zLolr),

o},

D O, O® © 0,0 e
@ 0O,® ® 9,

® 9,6,



